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Any expenditure, the full benefit of which is received during one accounting period is

termed as :

(a). Deferred Revenue Expenditure

(b). Revenue Expenditure

(c). Capital Expenditure

(d). Current assets

Livestock includes :

(a). Stock/Inventory

(b). Goods

(c). Animals

(d). Life Insurance Policy

Assertion (A): Capital is a liability of the firm towards the proprietor.
Reason (R): Capital is a liability because the proprietor is separate and distinct from
the business. (CBQ)

(a). Both (A) and (R) are true and (R) is the correct explanation of (A).
(b). Both (A) and (R) are true and (R) is not the correct explanation of (A).
(c). (A) is true but (R) is false.

(d). (A) is false but (R) is true.

According to this concept accounting.transactions should be recorded free from the
personal bias of either management or the accountant who prepares the accounts. It's
possible only when each transaction is supported by verifiable documents and
vouchers. Identify the concept of Accounting stated in the above statement. (CBQ)
(a). Objectivity concept (b). Matching Concept
(c). Materiality Concept (d). None of these

The accounting records.are made in the book of accounts from the point of view of the
business unit.and not that of the owner. The personal assets and liabilities of the
owner are, therefore, not considered while recording and reporting the assets and
liabilities of the business. Similarly, personal transactions of the owner are not
recorded in the books of the business, unless it involves inflow or outflow of business
funds. ldentify the concept discussed in the above statement. (CBQ)
(a).Objectivity concept (b). Matching Concept

(c). Business entity concept (d). Money measurement concept

X commenced business on 1t April, 2022 with a capital of ¥7,50,000 and a loan of
%2,00,000 taken from State Bank Of India. On 315t March, 2023 his assets were worth
%15,00,000 and he introduced additional capital of ¥1,25,000 and had withdrawn
40,000 for personal purposes. Find out the profit made during the year. (CBQ)
(a). %7,50,000 (b). %5,45,000
(c). %5,50,000 (d). %4,65,000

The realisation concept determines when goods sent on credit to customers are to be
included in the sales figure for the purpose of computing the profit or loss for the
accounting period. Which of the following tends to be used in practice to determine
when to include a transaction in the sales figure for the period? When the goods have
been: (CBQ)




(a). Dispatched (b). Invoiced
(c). Delivered (d). Paid for

Which of the following transaction will result in higher balance in bank column of Cash
Book in comparision to Pass Book?

(a). Cheques issued but not presented for payment.

(b). Interest allowed by bank.

(c). Bank charges entered twice in cash Book.

(d). Cheques deposited into bank but yet not credited by bank.

Goods taken away by the proprietor from the business for his personal.use will be
recorded in:
(a). Purchase Book (b). Journal Proper
(c). Purchase Return Book (d). Sales Book

10

Bank Reconciliation Statement is not a part of Double Entry System. [True/False]

11

The amount paid to the petty cashier at the beginning of.a period'is known as
................... Amount.

(a). Imprest (b). Amount.in due course

(c). Benign (d)- All of these

12.

Unfavourable bank balance means:
(a). Credit balance in passbhook (b). Credit-balance in the Cash Book
(c). Debit balance in the Cash Book | (d). Both (b) and (c)

13

External users of accounting information are:
(a). Researchers (b)..Government
(c). Petential investors (d). All of the above

14

What will be the amount of eapital in opening entry, if the following balances appear in
the books of Gill & Sons? (CBQ)
Assets --- Cash in hand %430; Cash at Bank %2,675; Sundry Debtors %7,495; Closing
Stock %9,000; Machinery and Equipment %6,000.
Liabilities and Capital --- Creditors ¥5,600.
(). 220,000 (b). 10,600
(c). 25,600 (d). 15,000

15

GST Act came into effect in India on:
(@). 24" March, 2017 (b). 15t July, 2017
(c).ast April, 2017 (d). 15" August, 2017

16.

Read the following statements and answer: (CBQ)

(). These are the assets which cannot be realized in cash or no further benefit can be
derived from these assets. Identify and name the type of assets.

(ii). These assets are also known as floating or circulating assets. Identify and name
the type of assets.

(iii). It is the monetary benefit, profit or advantage resulting from events or transactions
which are not the operating activities of the business but incidental to business. Identify
the accounting term being discussed in the above statement.

17.

Give an example for each of the following type of transactions:
(). Increase in one asset, decrease in another asset.

(iN). Increase in asset, increase in liability.

(iii). Increase in capital, decrease in capital.




18.

While preparing Bank Reconciliation Statement taking cash book balance into
consideration, whether will you put the following transactions in Plus or Minus side?
(). Cheque deposited but not recorded in the cash book.

(ii). Cheque issued but omitted to be recorded in the cash book.

(ii). Bank charges recorded twice in the cash book.

19.

Distinguish between cash basis of Accounting and accrual basis Accounting on the
basis of :

(a). Recording of cash and credit transactions;

(b). Legal position and

(c). Ascertainment of correct profit or loss.

20.

Which of the followings are debited and which of the followings are credited?
(). Decrease in asset

(i). Increase in expenses/losses

(iii). Increase in liabilities

(iv). Decrease in revenue

(v). Decrease in Capital

(vi). Increase in assets

21.

Explain the following in brief:
(). Business entity concept (ii). Going concern concept.

22

Qualitative characteristics are the attributes of aceounting information which tend to
enhance its understandability and usefulness. In arder to assess whether accounting
information is useful, it must possess of certain characteristics. Based on the following
statements, identify the different qualitative characteristics of Accounting information.
(a). Which qualitative characteristic of accounting information requires the use of
common unit and common format of reporting?

(b). ‘Accounting information should be verifiable and free from personal Bias’. Name
the qualitative characteristic of accounting information denoted by this statement.

(c). Which gualitative characteristic means decision-makers must interpret accounting
information in'the same sense@s it is prepared ad conveyed to them.

(d). Which.qualitative characteristic states that information must be available in time,
must help in prediction and feedback, and must influence the decisions of users?

23.

Enter the following transactions in the Purchase Return Book of MS House, Ranchi,
assuming CGST @6% and SGST@6%.:
2023
April 1 Returned goods to Shashtri & Bros, Ranchi for ¥20,000. Trade
discount 10%. (Debit Note No.140)
April 10, | Rutrned goods to Gavaskar & Sons, Ranchi for 50,000, as the
goods were not according to sample. (Debit Note No.141)
April 20 | Allowance claimed from Kapil Dev, Ranchi, on account of
mistake in the invoice ¥10,000. (Debit Note No.145)
April 25 | Allowance allowed to Srikant & Co., Ranchi on account of
mistake in the invoice ¥2,500.

24

What are the differences between Reserve and Provision?

25.

Show the accounting equation on the basis of the following transactions:
(i). Business started with cash ¥40,000, Goods ¥50,000 And Furniture ¥75,000.
(ii). Goods costing ¥48,000 sold at a profit of at a profit of 20% half of the amount




received in cash.

(iii). Depreciation on furniture ¥2,500.

(iv). Accrued commission %1,000.

(v). Paid Rent in advance 3,000.

(vi). Purchased goods for 20,000 less 10% trade discount and half of the payment
made in cash.

26. | (a). Sold goods to Bumrah for ¥50,000 at terms 4% cash discount and 20% trade
discount. Half the amount received by cash and balance half by cheque which was
deposited into bank the same day.

(b). Sold to Siraj goods costing ¥1,00,000 at 20% profit, allowing 10% trade discount
and 5% cash discount. Siraj made 40% payment immediately by cheque which was
deposited into the bank the same day.

(c). Sold goods to Kuldeep costing 40,000 at a profit 25% and allowed him 10% trade
discount and paid for cartage 1,000 to be charged from him. (CBQ)

27 | Prepare Two-column Cash Book from the following information:-

2023

March 1 Cash in hand %2,300
Cash at Bank 212,000

March 5 Purchased goods for ¥40,000; Trade Discount 15%; Payment
made by cheque.

March 6 Sold goods for ¥30,000; Trade Discount 10%; Payment
received by cheque.

March 7 Cheque received from S. Nair 34,000 and discount allowed to
him %200.

March 9 Cheque received from S. Nair deposited into bank

March 12 | Cheque paid to Radha 2,500 and discount received %50

March 15 | S. Nair's cheque dishonoured.

March 20 | Maney withdrawn from bank for office use ¥3,400.

March 23 | Fees of children paid by cheque %75.

March 25 .| Cheque received from Hira and endorsed it to Sunita on 27"
March 4,500

March 27 | Bank charges %20.

March 31 | Paid into Bank the entire balance after retaining 700 at office.

28 | From the following particulars, prepare the bank reconciliation statement of Shri
Krishan as.on March 31, 2023
(i). Balance as per passbook is ¥10,000.
(ii). Bank collected a cheque of 500 on behalf of Shri Krishan but wrongly credited it
to Shri Kishan.
(iii). Bank recorded a cash Book deposit of 1,589 as ¥1,598.
(iv). Withdrawal column of the passbook undercast by ¥100.
(v). The credit balance of 1,500 as on the passbook was recorded in the debit
balance.
(vi). The payment of a cheque of ¥350 was recoded twice in the passbook.
(vii). The passbook showed a credit balance for a cheque of 1,000 deposited by Shri
Kishan.

29. | Identify the correct concept/principles of accounting based on the statements given




below:-

(). Recognition of expense in the same period as associated revenues is called
................. concept.

(ii). The accounting concept that refers to the tendency of accountants to resolve
uncertainty and doubt in favour of understating assets and revenues and overstating
liabilities and expensesis knownas .....................

(iif). Revenue is generally recognized at the point of sale denotes the concept of

(iv). The ..., concept requires that the same accounting-method should be
used from one accounting period to the next.
(V)- The ..o, concept requires that accounting transaction should be free

from the bias of accountants and others.

(vi). The management of a firm is remarkably incompetent, but the firms.accountants
cannot take this into account while preparing book of accounts because:of
................... concept. (CBQ)

30.

The following balances appear in the books of AB Ltd..as on:1% April 2019 :

Machinery Account %5,00,000

Provision for Depreciation Account 32,25,000

The machinery was depreciated at 10% p.a. on the Fixed Instalment Method --- the accounting
year being April-March.

On 1%t October 2019, a machinery which was purchased on 1% July 2016 for ¥1,00,000 was sold
for 42,000 and on the same date a fresh machinery was purchased for X2,00,000.

Prepare the Machinery Account and Provision for Depreciation Account for the year 2019-20.
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ABC Ltd. is charging very low price which is just covering their cost that it can remain in
competitive market. ABC Ltd. is achieving which organizational objectives?

(A) Survival

(B) Profit

(C) Growth

(D) None of these

Which of the following is not a business activity?
(A) Buying or selling of House by a property dealer
(B) Buying or selling of cars by a dealer
(C) Selling an old house to buy a new house by Mohit
(D) None of the above

The industries which provide support services to other industries are known as:
(A) Primary Industries
(B) Secondary Industries
(C) Commercial Industries
(D) Tertiary Industries

Modern concept of Business insist on
(A) Earning huge profit
(B) Providing Services
(C) Bearing risk
(D) Profit with service

Which type of company is not allowed to subscribe its share to general public?
(A) Public Ltd. Company
(B) Private Ltd. Company
(C) One Person Company
(D) None of these

Application for approval of name of a company is to be made to
(A) SEBI
(B) Registrar of companies
(C) Government of India
(D) Government of the state in which company is to be registered.

The board of directors of a Joint Stock Company is elected by
(A) General Public
(B) Government bodies
(C) Shareholders
(D) Employees

A proposed name of company is considered undesirable if
(A) It is identical with the name of an existing company
(B) It resemble closely with the name of existing company




(C) It is an emblem of Government of India, United Nations etc.
(D) In case of any of the above

It is not compulsory for Private Ltd., Company to
(A) Maintain index of its members
(B) Issue prospectus
(C) Conduct statutory meeting
(D) All of the above

10.

Which of the following Enterprises is formed as a part of government and does not have separate
legal entity?

(A) Public Corporation

(B) Government Company

(C) Departmental Undertaking

(D) Public Ltd. Company

11

‘METRO’ is which form of enterprise?
(A) Public Ltd. Company
(B) Private Ltd. Company
(C) Government Company
(D) PPP

12.

DTH services are provided by
(A) Transport companies
(B) Banks
(C) Cellular companies
(D) None of the above

13

The insured gets loss amount or the policy amount, whichever is less. This is related to
(A) Principle of utmost good faith
(B) Principle of causa proxima
(C) Principle of Indemnity
(D) Principle of contribution

14.

There is no minimum transaction value is
(A) NEFT
(B) RTGS
(C) Both (A) and (B)
(D) None of these

15.

Minimum amount for RTGS is
(A) 25,000
(B) 2,00,000
(C) 50,000
(D) 1,00,000

16.

OLX is an example of which of the following categories of e-business?
(A)B2B
(B) B2C
(C)cac
(D) Intra B

17.

Common name for ATM, Debit Card, Credit Card etc.
(A) Electronic Card




(B) Smart Card
(C) Visa Card
(D) Master Card

18.

Environmental Protection can best be done by the efforts of
(A) Business people
(B) Government
(C) Scientists
(D) All the People

19

Can the public sector companies compete with private sector in terms of profit and efficiency? Give
reasons for your answer

20

Identify the form of Public Sector enterprises in the following cases:
(1 It is under the control of concerned Minister of the Department.
(i) LIC and Air India are the examples of this form of enterprise.
It enjoys maximum autonomy in all management activities.

21

Mrs. Indu started a voluntary association of 10 people, who are also consumers. She collected the
capital by selling shares to members and opened a retail shop so that they can eliminate middlemen
and get the goods at low price.

(a) State the type of organization mentioned in above case.

(b) State any three merits of this organization,

22

Ronhit operates a textile business. His family is joint and has a lot of ancestral property. All the 15
family members are a part of this business. He is the eldest male member in the family, so he hands
the business. He is liable to all the creditors of the business as he is the decision maker.Rohit’s
grandson has just born a few days ago and he is also the member of the business.

(1) Which form of business is being undertaken by Rohit?

(ii) Identify the features of this form of business highlighted in the above Para.

(iii). Textile business is a part of which type of industry according to you. State.

23.

Explain the concept and benefits of e-business.

24,

A factory owner took a fire insurance policy for his factory without informing the insurance company
that he received notice from electricity department to get the wiring of the factory repaired. After six
months of taking policy the factory caught fire due to faulty wiring. Will the factory owner get
compensation for the loss due to fire? Which principle of insurance is related with this case? Explain
that principle.

25.

Explain in brief the scope of e-business.

26.

Distinguish between Memorandum of Association and Articles of Association.

217,

Define social responsibility. Explain in brief the cases for social responsibility.

28.

Describe the salient aspects of C2C commerce.

29.

Define business ethics. Explain the different elements of business ethics.

30.

Yash is a student of class xii commerce and he is good in studies. His father gifted him a pen on his
birthday. The cost of pen is Rs.80.After few days Yash sold his pen to his friend Rounak for
Rs.100.He was very happy to earn profit of Rs.20.
After completed his studies he has started a pen manufacturing company in the name of M/s Yash
Pvt. Ltd. Due to good image of his pen his sales increasing day to day and he is earning huge profits.
Then he has decided to give scholarship to week girl child of his school.

(@) Can the transaction between Yash and Rounak be termed as business transaction? Why?

(b) Can the transaction made by M/s Yash Pvt. Ltd. be termed as business transaction?

(c) Identify the one value involved here.
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1. What is Hess,'s law

2. Make a PPT to show main points of the given chapter and prepare their

presentation for class 11 H. W.
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S.No PRACTICAL PROBLEM

1 To enter first and last name, then display the full name

2 To add two numbers entered by user

3 To calculate the perimeter of a rectangle

4 To calculate the area of a given triangle

5 To Calculate simple interest

6 To check whether a given number is positive, negative or zero

7 To check whether a given number is even or odd

8 Program to find the total marks, percentage and grade of five
subjects marks

9 Program to check whether a given year is leap year or not

10 To print 1 to 10 numbers using for loop

11 To print multiplication table of any given number

12 To print sum of first ten odd numbers

13 Program to enter 5 numbers in a list then find the average of all numbers

14 Program to enter 5 numbers in a list then display all the even

numbers of list

15 Program to create a dictionary and enter the name and marks of
five students

16 WAP to store students’ details like admission number, roll number, name and
percentage in a dictionary and display information on the basis of admission number.

17 Write a Python program to remove an item from a tuple.

18 Write a program to input n numbers from the user. Store these numbers in a tuple.
Print the maximum, minimum, sum and mean of number from this tuple.

19 WAP in Python to find and display the sum of all the values which are ending with 3
from a list.
20 Write a program that reads a string and then prints a string that capitalizes every

other letter in the string.
Note : The following Programs are needed to be done in Practical Copies with proper coding and output
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Statistics —

Chapter -4 presentation of data do all( NCERT) questions

Micro economics

Ch-Consumer behaviour - consumer equilibrium practice numerical
Ch- Elasticity of demand practice numericals
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Holiday Homework
Preparation/Revision of half-yearly syllabus up to October-2024.
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PM SHRI KENDRIYA VIDYALAYA NO. 1 DHANBAD
AUTUMN BREAK HOME-WORK
CLASS-XI B
SUB- COMPUTER INFORMATION PRACTICES (CODE : 065)
SESSION — 2024-2025

S.No PRACTICAL PROBLEM
1 To enter first and last name, then display the full name
2 To add two numbers entered by user
3 To calculate the perimeter of a rectangle
4 To calculate the area of a given triangle
5 To Calculate simple interest
6 To check whether a given number is positive, negative or zero
7 To check whether a given number is even or odd
8 Program to find the total marks, percentage and grade of five

subjects marks

9 Program to check whether a given year is leap year or not

10 To print 1 to 10 numbers using for loop

11 To print multiplication table of any given number

12 To print sum of first ten odd numbers

13 WAP to store students’ details like admission number, roll number, name and

percentage in a dictionary and display information on the basis of admission number.

14 Program to enter 5 numbers in a list then display all the even
numbers of list




PM SHRI KENDRIYA VIDYALAYA NO. 1 DHANBAD

AUTUMN BREAK HOME-WORK
CLASS-XI
SUB- MATHS

1. Solve 10 questions from each chapter taught
2.Write all formulae on a Chart Paper using sketch pens



PM SHRI KENDRIYA VIDYALAYA NO. 1 DHANBAD

10.

11

AUTUMN BREAK HOME-WORK
CLASS-XI

SUB- PHYSICS (042)
If GSAT-12 AND GSAT-16 [two Indian communication satellite] of different masses

are revolving in the same orbit, then they have same

a) speed and time period

b) speed and energy

¢) energy and time period

d) time period and angular momentum.
If g is the acceleration due to gravity on the earth's surface, what will be the gain in
the potential energy of an object of mass m raised from the surface of earth to a height
equal to the radius R of the earth?
Draw the graph showing the variation of acceleration due to gravity with (a) height
above the earth’s surface (b)depth below the earth’s surface .
If suddenly the gravitational force of attraction between the earth and the satellite
revolving around it become zero, what will happen to the satellite?
The value of G on the surface of the earth is 6.67 X 1071 Nm?kg~2.What is its value
on the surface of the moon?
How escape velocity and orbital velocity are related to each other ?
If the gravitational force is assumed to vary as the n' power of the distance, then the

time period of a planet round the sun will be proportional to:

n+1

) R bR Rz dRT

If earth be at half of its present distance from the Sun,how many days will there be in
a year?

What is gravitational potential energy at a point? How much of work is done in
shifting a mass from the surface to a height equal to its radius?

A body hanging from a spring stretches it by 2cm at the earth’s surface. How much
will the same body stretch the spring at a place 800 km above the earth’s surface?
Radius of the earth is 6400 km.

[P

. Discuss the variation of “g” with depth. What happens to “g” at the centre of earth ?

12. The radius of the Earth is reduced by 4%.The mass of the earth remains unchanged

.What will be the change in escape velocity?






